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Ch.-10 PROFIT AND LOSS LEVEL - |

CLASS: - VIIL i

and sells it for Rs 100. Find his gain and gain %

Q.1 Astudent buys a pen for Rs 90

Q.2 The cost price of 10 articles is equal to the selling price of 9 articles. Find the
profit percent.

Q.3 If the selling price of 18 oranges is equal to the cost price of 16 oranges, find the
loss percent.

Q.4 . Find the S.P.
if (i) M.P. = Rs 1300 and Discount = 10%
(ii) M.P. = Rs 500 and Discount = 15%
Q.5 On the eve of Gandhi Jayanti a sari is sold for Rs. 720 after allowing 20%
discount. What is its marked price?

: 0.8 After allowing a discount of

SUBJECT : MATHS |

arks his goods at such a price that after allowing a discount of 15%,
an article whose cost price

Q.6 Atradesmanm
he makes a profit of 20%. What is the marked price of

is Rs. 1707

Q.7 The marked price of a water cooler is Rs 4650. The shopkeeper offers an
Off-season discount of 18% on it. Find its selling price

8% on a toy, it is sold for Rs 216.20. Find the
marked price of the toy

0.9 A dealer marks his goods at 35% above the cost price and allows a
discount of 20% on the marked price. Find his gain or loss per cent.

| 10,10 The marked price of

TV is Rs 18500. A dealer allows two successive

discounts of 20% and 5%.

For how much is the TV available?

i R

| |0.11 How much perc
goods so that after allowing a discount of 10% on the marked price, he

gains 8%?

ent above the cost price should a shopkeeper mark his




